
1) 

2) 

GENERAL INFORMATION: 
iiiiii:i:i:i:i:i:i:i:i:iiijiiijiiijiiiii :I:I:I:i:I’::::18i:ii:i:i:i:l:l:i:i:i:i:.: .(... .,...: ._.,.: ..:.:: :.:.: ::.j .:.:.: ::.:::.y,:: :.:.:,:: :,:,:.:.:.:,:.:,:,:..,:.~ .:,:.: .:,:,:,:,:,:.:.:.:.:.:.:,:.:::.:~:.:::::.:.:. 
~~~~~~~i~t.~~~~~sa~;~!~~ I&:.:.:.:.:.:.: .,......_,...................,.,.,.,.,.,.,.,.,.,.,.,.,.........,.........................,.........,.......,.,...,...,.,.,.,.................,...................... . . . . 

For reasons of standardization, the water pump housing will be attached on the engine in the 
future by 4 hex. hd. screws M6 instead of 4 TAPTITE screws. 

ENGINES AFFECTED: 

Change in serial production started on engine type 582 UL with engine no. 4,172.692. For 
spare parts service the exact application boundary can‘t be stated because of the stock 
keeping of crankcase halves as used on production line, 

especially for the following: 

881 480 short block engine without oil pump 
881 481 short block engine with oil pump 
881 500 crank block assy. (crankcase, crankshaft, 2 pick-ups and flywheel) 
881 502 crank block assy. (crankcase and crankshaft) 
886 466 crankcase assy. 

3) SUBJECT: 

n ATTENTION: At receipt of one of the assemblies stated above, please, checkif the holes 
in the top crankcase half assigned for water pump attachment are tapped 
or just plain holes. 

Basically the attachment is as follows: 

l_P 
Taplte-screw M&Q5 

Lb=el 
washer + hexscrew M5x25 

with plain holes 

with tapped holes 

0 with plain holes the attachment is with the 4 TAPTITE screws M6x25 (part no. 841 540), 
secured with LOCTITE 221 and tightened to 8 Nm (70 in.lb.) 

0 with holes tapped, the water pump housing is attached with 4 hex. hd. screws M6x25 (part 
no. 244 21 l), secured with LOCTITE 221 and tightened to 8 Nm (70 in.lb.) 

At a repair, check first which screws are fitted and at renewal of these screws, use same 
type as used before. 

BOMBARDIER - ROTAX A-4623 GUNSKIRCHEN-AUSTRIA 

GESELLSCHAFTM.B.H.MOTORENFABRlK 
Telefon: ..43- 
Telex: 25546 b 

0)7246-271-O’, T&fax: ..43- 0)7246370 
rgk a, Telegr.: Bombrotax 6 unskwchen . 


